
 
 
 
 
 

 

 

Mock Test-III 

Biology     (Optional) 

 (Botany) 

Full Marks – 35      Pass Marks – 11½ 

All questions are Compulsory    lHkh iz’u vfuok;Z gSA 

Candidates are required to give answers in their  own wards as far as practicable. 

ijh{kkFkhZ izR;sd mÙkj ds lkFk lewg iz’u vkSj iz’u la[;k vo’; fy[ksaA  

Figures in the margin indicate full marks. mikar ds vad iw.kkZad fufnZ"V djrs gSaA  

General Instruction : 
Q. Nos 1 to 10 Multiple choice/objective Type. Each of 1 mark. 

Q. Nos 11 to 13 are Very short Answer Type each of 2 mark. 

Q. Nos 14 to 16 are short Answer Type each of 3 mark. 

Q. Nos. 17 to 18 are Long Answer Type each of 5 Marks.  

lkekU; funsZ’k 

iz'u la[;k 1 ls 10 rd cgqfodYih; iz’u@oLrqfu"V iz’u izR;sd 1 vad dk gSA  

iz'u la[;k 11 ls 13 rd vfry?kq mÙkjh; iz’u izR;sd 2 vad dk gSA 

iz'u la[;k 14 ls 16 rd y?kq mÙkjh; iz’u izR;sd 3 vad dk gSA 

iz'u la[;k 17 ls 18 rd nh?kZ mÙkjh; iz’u izR;sd 5 vad dk gSA 

lHkh lewg vfuok;Z gSA  

Group – A       [k.M & v 

GROUP – A                  1 X 10 = 10  

Multiple choice/ objective type Questions    

cgqfodYih;@oLrqfu"B iz’u 

1. Embryo sac develops from  
     (a) Pollen tube   (b) micro spore   (c) microsporangia     (d) megaspore  

Hkzw.kdks"k dh mRifÙk fdlls gksrh gS \ 

(a) ijkxufydk ls (b)y?kq chtk.kq ls (c)y?kqchtk.kq/kkuh ls (d)xq: chtk.kq/kkuh ls  



 
 
 
 
 

 

 

2. In which of the following fruits aril is not found  
(a) Custard apple     (b) Litchi  
(c) Mango     (d) Myristica 
buesa fdl Qy esa ,fjy ugha ik;k tkrk gSA  

(a) 'kjhQk    (b) yhph 

(c) vke    (d) fefjfLVdk 
3. If two plants genotype aa BB and aa BB are crossed together then what 

genotype may be obtained is F1 generation.  
(a) All aa BB    (b) 1 Aa BB : 1 aa BB 
(c) 1 Aa BB : 3 aa BB (d) 3 Aa BB : 1 aa BB.  
vxj nks ikS/kksa aa BB vkSj aa BB ds chp ØkWl djk;k tk; rks F1ih<+h ds ikS/kksa 
esa fdl izdkj dk thuksVkbi gksxkA  

(a lHkh aa BB   (b) 1 Aa BB : 1 aa BB 
(c) 1 Aa BB : 3 aa BB (d) 3 Aa BB : 1 aa BB.  

4. What is the reason of down syndrome or Mongolism is children?  
(a) Nllisome  (b) gene mutation (c) Trisomy   (d) none of these 
cPpksa esa Mkmu flUMªkse ;k eaxksfy;e flaMªkse gksus dk D;k dkj.k gS \ 

(a) uyhlkseh (b) thu mRifjorZu (c) Vªkblkseh  (d) dksbZ ughaA  
5. By which experiment Grifith proved the DNA is a genetic material?  

(a) Transformation   (b) Transduction 
 (c) Transcription   (d) Translation 
fxzfQFk us fdl iz;ksx }kjk fl) fd;k fd DNA gh vuqoaf’kd inkFkZ gS \ 

(a) VªkUlQksjes’ku     (b) VªkalMDlu  

(c) VªkUlfØIlu   (d) VªkUlys’ku 

 



 
 
 
 
 

 

6. Which of the following code is called AMBER ?  
(a) UAA    (b) AUG (c) UAG (d) UGA 
buesa ls dkSu lk dksMksu ^vEcj dgykrk gS \  

(a) UAA  (b) AUG  (c) UAG  (d) UGA 
7. Efficiency of each cell of a plant to develop into a new plaint is called  

(a) a gene cloming     (b) Somato clonal variation     
(c) Cellular totipotemey   (d) None of these  
ikS/ks ds izR;sd dksf’kdk ds vUnj ,d u;s ikS/ks dks tUe nsus dh {kerk gksrh gS] 
bls dgrs gSa &  

(a) thu Dyksfuax     (b) lksekDyksfuy fofo/krk   

(c) dks’kdh; VksVhiksVssalh  (d) bueas ls dksbZ ugha  

8. Culture nutrient medium is sterilized by  
(a) Keeping medium is 200C  (b) Auto claving the medium at 1200C for 
15 minutes   (c) filtering the medium with fine filter  
(d) adding antifungal powder in the medium  
lao/kZu iks"kd ek/;e dks vlaØfer fd;k tkrk gSA  

(a) ek/;e dks 200C ij j[kdj   (b) ek/;e dks 1200C ij 15 feuV 
vkWVksDysfoax djds  (c) ek/;e dks irys fQYVj ls Nkudj  (d) ek/;e esa 
,aVhQaxy ikmMj feykdjA  

9. Enzyme ligase is used in 
(a) To break the DNA   (b) To join the broken DNA  
 (c) To purify DNA   (d) None of these  
,atkbe ykbxst dk iz;ksx fd;k tkrk gS & 

(a) DNA dks [kafMr djus ds fy,   (b) [kafMr DNA dks tksM+us ds fy, 

(c) DNA dks 'kksf/kr djus ds fy,   (d) buesa ls dksbZ ughA  
10.  How Rhizobium bacteria present is soil help indirectly in increasing the 

plant population?  



 
 
 
 
 

 

(a) By nitrogen fixation and increasing the soil fertility 
(b) Mycorhiza   (c) By antibiotics  (d) None of these  
e`nk esa mifLFkr jkbtksfo;e thok.kq vizR;{k :i ls ikS/kkas dh vkcknh esa fdl 
izdkj o`f) djrs gSa \ 

(a) ukbVªkstu fLFkjhdj.k ,oa e`nk dh moZjrk esa o`f) dj  

(b) dodewy }kjk  (c) izfrftfork }kjk  (d) buesa ls dksbZ ughA  

GROUP – B          2 X 3 = 6  
(Very Short Answer type Question Carrying 02 Marks Each) 

¼02 vad ewY; ds vfry?kq mÙkjh; iz’u½ 
11.  Cross pollination takes place in Bombax by ---------------- and in maize by 

----------------------- agents.  
lsey esa ---------------------------------------------------- ds }kjk vkSj edbZ esa -------------------------------------- 
ds ek/;e }kjk ij ijkx.k gksrk gSA  

12.  Write short notes on the following  
(a) Homogamy   (b) Triple fusion   

fuEufyf[kr ij fVIi.kh fyf[k,  

 ¼v½ gkseksxSeh  ¼c½ f=la;kstu 
13.  The Process of formation of RNA form DNA is called ----------------- and 

synthesis of RNA to protein is called ----------------------  
DNA ls m RNA cuus dh izfØ;k dks ----------------------------------- dgrs gSa vkSj RNA ls 
izksVhu la’ys"k.k fØ;k dks ------------------------ dgrs gSaA  

GROUP – C           3 X 3 = 9 
(Short Answer type Question Carrying 03 Marks Each) 

¼03 vad ewY; ds vfry?kq mÙkjh; iz’u½ 
14.  What is germ – plasm conservation? Describe it in brief.  

teZIykTe HkaMkj.k D;k gS \ bls laf{kIr esa o.kZu djsaA  
15.  Explain why insectivorous plants are green and photo synthetic yet they 

feed on insects.  



 
 
 
 
 

 

gjk ,oa izdk’k la’ys"k.k djus ;ksX; gksrs gq, Hkh dhVHk{kh ikS/ks dhV dk Hk{k.k djrs gSa 
o.kZu djsaA  

16.  What is the importance of plants in pollution control and what will 
happen if there will be no plants on earth?  
ikS/kksa dk iznq"k.k fu;a=.k esa D;k egRo gS \ vxj /kjrh ij ikS/ks ugha gksxs rks D;k 
gksxk \  

GROUP – D          5 X 2 = 10 

(Long/Essay type Question Carrying 05 Marks Each) 

¼05 vad ewY; ds nh?kZ@fuca/k izdkj ds iz’u½ 
17.  What is the role of biotechnology in agriculture? 

tSo izkS|kSfxdh dh d`f"k esa D;k Hkwfedk gS \ 

OR 
vFkok 

Give an account of the process of recombinant DNA Technology.  
iqu;ksZxt DNA iz|kSfxdh izØe dk o.kZu djsaA  

18.  Describe the Miller’s experiment.  
feyj ds iz;ksx dk o.kZu djsaA  

OR 
What do you understand by DNA replication? And how does it take 
place?  
 DNA izfrdj.k ls vki D;k le>rs gSa vkSj ;g dSls gksrk gS \  



 
 
 
 
 

 

 

Mock Test III 

Biology 

(Optional)   Section – B 

(Zoology) 

Full Marks – 35      Pass Marks – 11½ 

All questions are Compulsory  lHkh iz’u vfuok;Z gSA 

Candidates are required to give answers in their  own words as far as practicable. 

ijh{kkFkhZ izR;sd mÙkj ds lkFk lewg iz’u vkSj iz’u la[;k vo’; fy[ksaA  

General Instruction : 
Total Makrs 35 All questions are compulsory Time 1½ hrs. 

Total number of question – 18 

01 (one) marks -10 02 (Two) marks – 03 03 (Three) marks -03 

05 (Five) marks - 02   

Questions 1 – 10 are of one marks each. Objective type question (Multiple choice- at least 
four choices out of which one choice is correct)  

iz'u la[;k 1 ls 10 ds fy;s ,d&,d vad fu/kkZfjr gSA cgqfodYih; mÙkj esa ls ,d lgh 
mÙkj dk p;u djsaA  

Group – A 

[k.M & v 

Select one correct answer:        1x10=10   

fdlh ,d lgh mÙkj dks pqusa %&  

1. Humerus, Radio-ulna, Carples and Metacarples are the bones of  
a. Fore limbs 
b. Hind limbs 
c. Skull 
d. Pectoral Girdle 
 

1- izxafMdk] izdksf"Bdk] var% izdksf"Bdk] eh.kcaf/kdk] djfHkdk] vkfn vfLFk;k¡ ik;h tkrh gS \ 



 
 
 
 
 

 

a. vxz ikn 

b. i'p ikn  

c. [kksiM+h 
d. isDVksjy xMZy 
 

2. Lungs of the planet is called  
a. Environment  
b. Rain forest  
c. Hills and mountains 
d. Soil 

2- ^i`Foh dk QsQM+k^ fdls dgrs gS &  
a. i;kZoj.k  

b. o"kkZ ou  

c. igkM+ ,oa ioZr 

d. feV~Vh 
3. IgA, IgM, IgE, IgG are examples of  

a. Antigens  
b. Antibodies 
c. Inteferons 
d. Thymus 

3- IgA, IgM, IgE, IgG fdldk mnkgj.k gS \ 
a. ,aVhtsu 

b. izfrj{kh  

c. bUVsQsjksUl 

d. Fkkbel 
 
4. Antibodies are found in  

a. Blood 
b. Lungs 
c. Heart 
d. Kidney 

4- izfrj{kh ik;s tkrs gSa &  
a. jDr esa 
b. QsQM+ esa 
c. g`n; esa 
d. o`Dd esa 

5. p2+2pq+q2=1 is a binominal expression of  
(a) (p+q) 2 
(b) (p-q) 2 
(c) (p*q) 2 
(d) (p/q) 2 

5- p2+2pq+q2=1 fdldh f}inh vfHkO;fDr gSa \ 
(a) (p+q) 2 
(b) (p-q) 2 
(c) (p*q) 2 
(d) (p/q) 2 



 
 
 
 
 

 

6. Which one of the following is not an example of Mendelian disorders  
a. Sickle-cell anaemia 
b. Colour blindness 
c. Phenylketonuria 
d. Klinefelter’s Syndrome 

 
6- buesa ls dkSu esafMfy;u fodkj dk mnkgj.k ugha gS \ 

a. nk= dksf’kdk vjDrrk 
b. o.kkZU/krk  

c. Qhukby dhVksuwfj;k  

d. DykbuQsYVj flaMªkse 
 
7. Sickle-cell anaemia is expressed only in  

a. Hbs (Hbs Hbs)  
b. HbA 
c. Both 
d. None of them  

 
7- nk= & dksf’kdk vjDrrk flQZ n’kkZr gksrk gS &  

a. Hbs (Hb s  Hb s) 
b. HbA 
c. nksuksa 
d. buesa ls dksbZ ugha 

 
8. Male germ cells are know as  

a. Leydig cells  
b. Spermatogonia 
c. Interstitial cells  
d. Sertoli cells  

 
8- uj teZ dksf’kdk;sa fuEu esa ls D;k dgykrh gS \ 

a. yhfMx dksf’kdk;sa 
b. 'kqØk.kqtu 

c. varjkyh dksf’kdk;sa 
d. lVksZyh dksf’kdk;sa 

 
9. Central drug research institute is located in  

a. Patna  
b. Ranchi 
c. Lucknow 
d. Kanpur 

 
9- dsUnzh; vkS"k/k vuqla/kku laLFkku dgk¡ fLFkr gS \ 

a. iVuk  

b. jk¡ph 
c. y[kuÅ 

d. dkuiqj 
 



 
 
 
 
 

 

10. ABO blood grouping in human being is an example of  
a. Dominance 
b. Co-dominance 
c. Independent assortment 
d. Linkage 

 
10- ekuo esa ABO jDr lewg fdldk mnkgj.k gS \ 

a. izHkkfork  

b. lg&izHkkfork  

c. bafMisUMsaV vlksjesaV  

d. lgyXurk 
Group – B 

 
Question no.11– 13 carries 2 marks each       2x3 = 6 
iz'u la[;k 11 ls 13 ds fy;s nks nks vad fu/kkZfjr gSA  
11. Name the lymphocytes present in our body and give one function.   

11.   gekjs 'kjhj esa ik;s tkus okys yfldk.kq ds uke vkSj dk;Z crk;saA   

12. Name the islands, which Darwin visited during his journey. Give an example of Adaptive 
radiation.  

12- viuh ;k=k ds nkSjku MkfoZu fdl }hi ij x;s \ vuqdwyh fofdj.k dk mnkgj.k nsaA  
 
13. Male reproductive system consists of?  
 
13- uj tuu ra= esa dkSu&dkSu ls vax lfEefyr gSa \ 

Group – C 

Question no. 14 – 16 carries 3 marks each        3x3 = 9 

iz'u la[;k 14&16 03 vadksa ds gSaA  
14. What is biodiversity? Write the types of diversity you have read.  

14- tSo&fofo/krk D;k gS \ vkius fdrus Lrj ds tSo&fofo/krk dk v/;;u fd;k gS \ 
  
15.  Give the three names of freshwater and marine fishes.  

vyo.kh; rFkk yo.kh; ty esa ik;s tkusokyh efNfy;ksa dk uke crk;saA  
  
16. Complete the abbreviation 

(a) AIDS 
 (b) ELISA 
(c) MOET 

 fuEufyf[kr dks iw.kZ djsaA  
 ¼d½  ,0vkbZ0Mh0,l0 
 ¼[k½  bZ0 ,y0 vkbZ0 ,l0 ,0 
 ¼x½ ,e0 vks0 bZ0 Vh0 
 



 
 
 
 
 

 

 
 

Group – D 

 
Question 17-18 carries 5 marks each        5x2 = 10 
iz'u la[;k 17&18 05 vadksa dk gSA  
 
17. What are the causes of Cancer? Name the biological and non biological agents causing 

cancer 
 

dSalj gksus ds D;k dkj.k gSa \ dSalj mRiUu djusokys tSoh; rFkk vtSoh; dkjd dk uke 

crk;saA  

18. Answer the following question  
(a) What is menarche?  
(b) What is menstrual cycle? 
(c) The average interval of menstruation cycle is ------------- days. 
(d) Release of ovum from ovary is knows as ----------------------- 
(e) The process of fusion of a sperm with an ovum is called -------------- 

 
   fuEu iz’uksa dk mÙkj nsaA  
 ¼d½ jtksn’kZu D;k gS \ 
 ¼[k½ vkrZo pØ D;k gS \ 
 ¼x½ vkrZo pØ vkSlru -------------------- fnuksa dk gksrk gSA  
 ¼?k½ vaMk.kq eksfpr gksus dh fØ;k ---------------------------------- dgykrh gSA  
 ¼M-½ 'kqØk.kq ds lkFk vaMk.kq ds lay;u dh izfØ;k dks ------------------------- dgrs gSaA  
 

 
 

 
 

  


